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单选题

1.采松果的小松鼠

答案：(B)

Part A: Answers 1–6

答案解析：
根据指令，N为向上   ，E为向右    ，S为向下   ，W为向左   。
NNEENE的指令会按照                 ，如图所示的路线行走。

2.神奇的刮画

-----------------------------------------------------

答案：(C)

答案解析：
底层真实颜色按照区域分成了四块，我们可以将四幅图案按照底层区域分割为
四个区域。

A图在四个区域都有出现，所以会显示4种颜色；

B图在两个区域出现，所以会显示2种颜色；

C图在三个区域出现，所以会显示三个颜色；

D图在四个区域出现，所以会显示4种颜色。
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3.整理积木

(A) (B) (D)(C)

-----------------------------------------------------

答案：(B)

答案解析：
先比较19和8，19比8大，要放入8的右边；再比较19和23，19比23小，要放入
23的左边。所以19应放在8与23之间的B位置上。

4.

-----------------------------------------------------

猜猜我叫什么？

答案：(B)

答案解析：
仔细观察给出的符号，可以对应到解密表中对应的字母是dae。
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2. What is the Order?

The symbols � , � , � , � , � , and� , have to be arranged in a certain order. You
are given clues to help you:

� comes before � � comes before � � comes before �
� comes before � � comes before � � comes before �
� comes before �

What is the final order?
(A) � � � � � �
(B) � � � � � �
(C) � � � � � �
(D) � � � � � �
(E) � � � � � �

3. Opening the Safe

To open the safe you must press the ‘Open’ button.
However, you must first press all of the other buttons exactly once in the correct order.
This can only be done by following the directions on the buttons. For instance, the
middle button in the rightmost column has the direction L3. After pressing it, you
would move three places to the left and then press the R1 button in the leftmost column.

U2 L1 U1 Open

R1 U1 R1 L3

R2 R2 D2 D2

A B C

D E

U = up
D = down
L = left
R = right

Which button should you press first?

(A) A (B) B (C) C (D) D (E) E
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5.天气预报

答案：(C)

答案解析：
根据题目给出的信号云，我们知道一共使用了两种不同的云彩来表示天
气信号，一种大烟雾云，一种小烟雾云。给出的图案中只有一朵云彩出
现问题，只需要把已知图案和每个正确的信号图案去对比，有一处不同
即为正确答案。

暴雨有2处不同;

根据对比信号云“多云”，有1处不同，故信号为多云。

小雨有3处不同;

多云有1处不同;

晴朗有4处不同；
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问题1：9

解析：1+8+0=9

Part B: Answers 7–9

简答题
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6.滚动的图案

答案：(C)
答案解析：
滚筒可以按照箭头方向滚动，也可以按照逆箭头方向滚动。连续出现的图案必
须按照箭头顺序或者逆箭头顺序依次出现。
选项C中，五角星 - 三角，下一个图案应该是花型，结果变成了圆形，故无法
滚动出来。

-----------------------------------------------------

7.机器人收垃圾
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问题2：12

解析：3+1+8=12

4

6. Shared Screen

On a shared internet site, five participants are typing at the same time. Whatever they
type appears on a shared screen.
Each participant has their own code name in the form of a three-digit number that they
type repeatedly.
Adam 4 3 4
Blair 1 1 1
Codey 0 2 0
Dai 2 1 2
Era 3 0 3

For instance, if Adam and Blair were typing,
4 3 1 1 4 4 1 3 4 or 1 1 4 3 1 4 4 3 4
could result from Adam typing his code word twice and Blair his code word once.
What appears on the shared screen is:
3 0 2 1 1 1 1 0 2 4 3 4 3 2 4 2 0 3 3 4 1 2 0 2 4 3 4 3 3 0 3 1 2 2 1 2
Who types their code word most often?

(A) Adam (B) Blair (C) Codey (D) Dai (E) Era
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问题3：3

解析：12-9=3

8.上学的路

-----------------------------------------------------

问题1：6分钟。

解析：路线1没有经过交通灯，按照段来清点，一共6段，故花费6分钟；
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问题2：10分钟。

解析：路线2经过2个交通灯，按照段来清点，一共8段，故花费8+2=10分钟；

问题3：8分钟。

解析：路线3经过2个交通灯，按照段来清点，一共6段，故花费6+2=8分钟。
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8. Skyscrapers

In the city of Skytopia, skyscrapers have been built in a grid. You would like to build a
radio tower in one of the squares of this grid, so that its signal reaches as many skyscrap-
ers as possible. Some restrictions apply:

• The signal can only reach skyscrapers in the same row or column.

• The radio tower cannot be built on a square that already contains a skyscraper.

In the grid below the skyscrapers are in the shaded squares. Signals from a radio tower
in either of the squares with a ᵀ could reach at most 3 skyscrapers.

ᵀ

ᵀ

For each of the following grids, in how many squares could you build a radio tower so
that its signal reaches as many skyscrapers as possible? (2 in the above example.)

A. B.

C.

Computational and Algorithmic Thinking 2020 (Upper Primary) 7
9.贪吃的虫子

问题1：2米。

解析：距离最近的苹果如下图，只需要爬2米；

问题2：6米。

解析：距离最远的苹果如下图，需要爬6米；
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问题3：14米。
解析：想要吃掉所有苹果，必须走遍所有通往苹果的分枝，而且，虫子吃完苹果
后，还需要折返到分枝的枝丫上，然后继续爬到下一个苹果所在的分枝。
寻找最优路线，需要先吃掉最近的苹果，然后依次爬到剩下三个苹果的分枝，完
成任务如下图需要爬行14米。




